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POLITICAL SCIENCE
Paper : POLO300104
( Perspectives on Public Administration )

Full Marks : 60
Time : 2% hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x8=8

oo e o e fim

fa) Who of the following has been wrongly
listed as an advocate of the managerial
view regarding the na*ure of public
administration?
ERF-PIPFE dPfe  FeE  ARBRARES
TReAN el RO T @RI T
eIy 91 2 ?
{i) Simon

RERE]
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(b)
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(2)

(i) Smithburg and Thompson
el e 4=oes

(i) L. D. White
7, f. @b

(iv) Luther Gulick
ERERER

( Choose the correct option )

( ws R qfr Sferer )

Who of the following is regarded as the
father of Public Administration?

TR QR R~ P 2ot a1
N =?
(i) Dimock
foxe
(i) L. D. White
<. ¥, 2R
(i) Willoughby
Tl
(iv) Woodrow Wilson

Tewr e
( Choose the correct option )

( wm Rsch afe Sfere )

{ Continued )
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(3)

(c) The term ‘scientific management’ for the
first time used by Max Weber / F. W.
Taylor / Vincent de Gournay / Louis
Brandeis.

‘e AARDEE *RCE ARRE A
@R [ «F. SFS, e / ot e /
=% @fTs IRT IR |

( Choose the correct option )

(= e a1 Sfere )

(d) The word ‘promotion’ is derived from the
Latin word ‘promovere’.
‘Promotion (C7Af®)" 6 ‘promovere
(o)’ SR C@ba *<r *{1 R |
( Write Yes or No )
(= = forar )

() “Women have been hidden from
history.” This was said by Simone
de Beauvoir / Sheila Rowbotham /
Mary Wollstonecraft.

‘e BN oW REE W R @]
SReh oRw BW @ Reerm /o=@
@R / IR THAEAERD |

( Choose the correct option )

( @ Reaco! A Sferear )
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(4)

What is meant by ‘3E’ in public
management?

EIR-JERIe ‘3E’q & qEm 2

There is provision for organization of
Public Service Commission in the Article
315 f 316 f 321 f 322 of the Indian
Constitution.

TROR MR 03¢ / 0db / 9> [ 93
SRS CEIRRCITAT SIICATA oo Ry 91 G |

( Choose the correct option )

( = e afR Sferear )

Which one of the following is not an
aspect of overlapping feature of Riggs’
Prismatic Sala model?

R @l iy fette  oen weoe
wfggwere! SR bl fied w23 2

(i) Nepotism / F& (SR NS

(i) Poly-communalism / I2-SemFel
(i) Formalism / S SEFel

(iv) Poly-normativism / I2q+-RMEel

( Choose the correct option )

( w7 Rmcs! Az Sferear )

( Continued )

(5)

2. Answer the following questions (any siq :
; 2x6=12

ol AR Teq fowr (R e ==t) -

fa) Write two principles of human relation
theory.

TFARR 7o ©ga 71 TS fera |

(bp) What is meant by ‘politics-adminis-
tration dichotomy’?

Freaite S P f&-Rema s w2

() Mention two obstacles of good
governance.
3-eMPTT o1 1 SeEs 97 |

(d) Mention two problems of personnel
administration.
faa e o1 e SeEy 490 |

(e) Write two merits of seniority principle.

el A 761 @9 fors |

() Write two differences between new
public management and new public
service approach.

TP R WE q9q -G
B b1 “fefe fort
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(6) L ¥

. : ic administration
(g) Write two human aspects of scientific () Feminism in public adm:
management. (-2 AT
(@IS LIS 701 T e foray |
i inistration in
() What is new public administration? (d) Importance of public administra
T (RPN 2 mfSEE i

oy T IR EFR

(ii  Write two similarities between
public administration and private

administration. (e) Disadvantages of indirect method of
BRI 2P S (IHIFIQ 2T TS 4 recruitment
o1 A fere o SR AT RS SRR
(i) Mention two aspects of Max Weber’s

bureaucratic theory. : () Differences between integral a};li
T @QET SAEeiEe wgw o fer SraEy managerial' views of publi
41| administration

(A -2 wfen ‘I@@‘(% e W

3. Write short notes on the following (any foun : ‘T@@ﬁﬁ S WW
5x4=20

oS WARRA ¢o1q 59 Ol ferdt (R e wifii)

{g) Features of good governance

-2 WFEPTR

{a} Neutrality in public service

-GS f{ersel

(b) Evaluation of scientific management (h) Henri Fayol’s classical theory
theory
g el AR (AL TS TG
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(8)

4. Answer the following questions (any two) :
10%2=20
SO EPICAE e o (R ceel 9B)
(a) What is public administration? Discuss

its growth and evolution as a discipline.
2+8=10

@-prE B2 SuEes REw B TR
Tesifa e REPT SCEAm 397 |

(b) Critically evaluate the human relation
theory.
TS o OGO AT FeR 37 |

(¢) What is training? What are its kinds?
Discuss any one of it. 2+2+6=10

gt 0 TR ogeemz R TR R
RN @B R SCEAm 40 |

{d) What is new public management?
Discuss its salient features. 2+8=10

Cqed ER-REEE e wWR o Smesn

CAPBPTRR SICEsH <541 |

(e) Evaluate the ecological approach of Fred
Riggs.

@o fRred AR GRS JoR 47 |
b & & ¢
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